Manuals+ — User Manuals Simplified.

MONSTERTECH 00330004 Table Mount Mouse Extension
Instruction Manual

Home » Monstertech » MONSTERTECH 00330004 Table Mount Mouse Extension Instruction Manual -

Contents
1 MONSTERTECH 00330004 Table Mount Mouse
Extension
2 Product Information
3 Product General Assembly
4 Product Usage Instructions
5 GENERAL ASSEMBLY INFO AND HOW TO
6 PARTS
7 ASSEMBLY
8 Precautions
9 Documents / Resources
9.1 References
10 Related Posts

MONSTERTECH

MONSTERTECH 00330004 Table Mount Mouse Extension


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/monstertech
https://manuals.plus/monstertech/00330004-table-mount-mouse-extension-manual.pdf

Product Information
Table Mount Mouse Extension

The Table Mount Mouse Extension is a hardware accessory that allows users to extend their mouse usage area
by mounting the mouse on a table. It comes with a universal connector and can be assembled easily using the
provided nuts, bolts, and hex key set.

Product General Assembly
Info and How-To

The product comes with a profile nut, hex key set with ball head + extension or similar required universal
connector, and profile cap assembly. The bolt dimensions are M8x35 and M8x25, and the nut dimensions are M8.
The product is compatible with M6 and M8 slot nuts. No extra or spare parts are listed.

Product Usage Instructions

Before starting the assembly, please remove the protective layer on the composite plate.
Insert the slot nut M8 into the universal connector and tighten it using the hex key set.
Attach the composite plate to the universal connector using the M8x30 bolt.

Insert the slot nuts M6 into the profile cap assembly and tighten them using the hex key set.
Attach the profile cap assembly to the composite plate using the M6x18 bolt.

Attach the foam pad to the profile cap assembly.

N o o > 0 Dhd o~

Insert the slot nuts M8 into the threads on top of the profile cap assembly and tighten them using the hex key



set.
8. Attach the universal connector to the slot nuts M8 using the M8x30 bolt.

9. Your Table Mount Mouse Extension is now ready to use.

Warning Notices

Please note that this product should be assembled carefully and according to the provided instructions. Do not
use the product if any parts are missing or damaged. Keep the product away from children and pets, as it may
cause injury if misused.

GENERAL ASSEMBLY INFO AND HOW TO

PROFILE NUT




UNIVERSAL CONNECTOR

BOLT DIMENSIONS AND HOW TO MEASURE THEM [mm]

25

M8x25

35

PROFILE CAP ASSEMBLY



PARTS




ASSEMBLY

X
foam pad















e
= S

(

Precautions

WARNING NOTICES

« CAUTION: Do not clamp your fingers while attaching the table mount.

« CAUTION: Check before usage if all screws are tightened.

« CAUTION: Check before usage that the mounting plate is screwed on tight after making height adjustments.

« DANGER: Contains small parts not suitable for children under 3 years.

« Only suitable for children over 12 years and adults.

« All MTSIM products are hand-assembled and quality checked.

« The mount is designed for usage only with a computer controller (e.g. joystick or throttle).

« We exclude liability if the product is used for purposes other than intended.

« MTSIM shall be liable for damage arising from causes other than the detriment to life, body and health only to
the extent that such damage arises from wilful misconduct, gross negligence or the culpable violation of a
fundamental contractual obligation on the part of MTSIM or a vicarious agent (e.g. the delivery service) of
MTSIM. Any further liability for damages shall be excluded.

« If you have safety concerns or questions regarding assembly, contact us under info@mtsim.com or visit

www.mtsim.com/en/

Documents / Resources


mailto:info@mtsim.com
http://www.mtsim.com/en/

ﬂiéb MONSTERTECH 00330004 Table Mount Mouse Extension [pdf] Instruction Manual
00330004 Table Mount Mouse Extension, 00330004, Table Mount Mouse Extension, Mount Mo
A use Extension, Mouse Extension, Extension

MOUSE EXTENSION

References

o " MTSIM — MONSTERTECH — Simulation Design — Offizielle Webseite

o  MTSIM — MONSTERTECH — Simulation Design — Official Website
o  MTSIM — MONSTERTECH — Simulation Design — Site officiel

Manuals+,



https://manuals.plus/m/aea293f5c04fe70c8dcefea2f8dbe5e33c36c9504f7e251e719bb85977973ccf
https://manuals.plus/m/aea293f5c04fe70c8dcefea2f8dbe5e33c36c9504f7e251e719bb85977973ccf_optim.pdf
http://www.mtsim.com
http://www.mtsim.com/en/
http://www.mtsim.com/fr/
https://manuals.plus/

	MONSTERTECH 00330004 Table Mount Mouse Extension Instruction Manual
	MONSTERTECH 00330004 Table Mount Mouse Extension
	Product Information
	Product General Assembly
	Product Usage Instructions
	GENERAL ASSEMBLY INFO AND HOW TO
	PARTS
	ASSEMBLY
	Precautions
	Documents / Resources
	References



